K(IIT) — Economics - H — 6B

2018
ECONOMICS — HONOURS
Sixth Paper
(Group - B)

Full Marks - 50

Candidates are required to give their answers in their own words as far as practicable
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The figures in the margin indicate full marks

Group - A

Question No. 1 is compulsory. Answer any two questions from the rest

1. Answer any five questions :
(a) Mention any (wo causes behind the macroeconomic crisis of

1991.
(b) Mention two reform measures adopted in the area of foreign

investment in 1991.
(¢c)  State any two reforms undertaken in the money market.
(d)  What are the two main functions of the foreign exchange market

in India?
(¢)  What are the objectives of MGNREGA?
()  Define Special Economic Zone (SEZ).
(g What is the ‘window of opportunity’ in the demographic

transition of India?”
(h) How can you explain the inefficiency in the public sector of

India?

2. What do you mean by the problem of NPA in the banking sector?
Examine the role of banking sector reforms in India towards solving this problem.

3. (a) Examine three changes in Industrial Policy since the reforms in

the early 1990s.
(b)  How far these changes helped to generate industrial growth?

4. Why is the need for inclusive growth felt? What is the role of the State
regarding inclusive growth?
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Group -B

Question No. 5 is compulsory. Answer any one question from the rest

5. Answer any five questions :

(a) Mention two features of land reform policy of West Bengal during
the last thirty years.

(b) What do you mean by rural non-farm sector? Does this sector
contribute to SDP in West Bengal?

() What are the objectives of forming Self-Help Groups?

(d) Mention any two problems in the process of industrialization in
West Bengal.

(e) Is there any similarity between the occupational structure of India
and West Bengal?

(f) Indicate any two reasons for the deceleration in agricultural
growth rate in West Bengal during the last decade.

(g) Do you think that there has been an increasing trend in the SDP of
West Bengal during the last decade? Mention two reasons for your answer.

(h) What percentage of the operational holdings of West Bengal
belong to the small and marginal category?

(i) Name two important small manufacturing industries in West
Bengal.

(j)  What was the reason for the increase in the work participation rate
in West Bengal between 1991 and 20017

6. Give an account of the trend in rural employment in West Bengal since
the 1990s.

7. What are the problems faced by the small scale industries of West
Bengal and what incentives have been given to them?
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